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Index: 0, Unicode:

Nodes: 162, Contours: 2
BBox: (0, 0) - (2794, 384)
LSB: 0, RSB: 8, Width: 2802
Ish: 25, rsh: 45, width: 2732

[

Index: 2, Unicode: 0063
Nodes: 103, Contours: 2
BBox: (0, 0) - (2794, 460)
LSB: 0, RSB: 4, Width: 2798
Ish: 279, rsb: 4, width: 2515
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Index: 4, Unicode: 0065
Nodes: 94, Contours: 2
BBox: (0, 0) - (2790, 376)
LSB: 0, RSB: 8, Width: 2798
Ish: 75, rsb: 96, width: 2627
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Index: 6, Unicode: 0067
Nodes: 111, Contours: 4
BBox: (0, 0) - (2798, 384)
LSB: 0, RSB: 8, Width: 2806
Isb: 0, rsh: 8, width: 2798
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Index: 8, Unicode: 0069
Nodes: 368, Contours: 6
BBox: (0, 0) - (2802, 580)
LSB: 0, RSB: 0, Width: 2802
Ish: 259, rsb: 244, width: 2299
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Index: 10, Unicode: 006B
Nodes: 292, Contours: 4
BBox: (0, 0) - (2794, 316)
LSB: 0, RSB: 4, Width: 2798
Ish: 828, rsh: 821, width: 1149
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Index: 12, Unicode: 006D
Nodes: 401, Contours: 4
BBox: (0, 0) - (2782, 372)
LSB: 0, RSB: 16, Width: 2798
Ish: 0, rsh: 20, width: 2778
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Index: 14, Unicode: 006F
Nodes: 485, Contours: 7
BBox: (0, 0) - (2800, 503)
LSB: 0, RSB: -2, Width: 2798
Ish: 473, rsb: 464, width: 1861
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Index: 16, Unicode: 0071
Nodes: 717, Contours: 23
BBox: (0, 0) - (2794, 492)
LSB: 0, RSB: 12, Width: 2806
Isb: 160, rsb: 165, width: 2481
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Index: 18, Unicode: 0073
Nodes: 801, Contours: 28
BBox: (0, 0) - (2800, 491)
LSB: 0, RSB: 2, Width: 2802
Ish: 779, rsb: 60, width: 1963
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Index: 20, Unicode: 0075
Nodes: 444, Contours: 8
BBox: (0, 0) - (2802, 499)
LSB: 0, RSB: 8, Width: 2810
Ish: 109, rsb: 117, width: 2584
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Index: 22, Unicode: 0077
Nodes: 402, Contours: 2
BBox: (0, 0) - (2802, 479)
LSB: 0, RSB: 4, Width: 2806
Ish: 364, rsbh: 365, width: 2077
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Index: 24, Unicode: 0079
Nodes: 173, Contours: 6
BBox: (0, 0) - (2790, 503)
LSB: 0, RSB: 16, Width: 2806
Ish: 129, rsb: 145, width: 2532
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Index: 1, Unicode: 0062
Nodes: 108, Contours: 2
BBox: (0, 0) - (2798, 384)
LSB: 0, RSB: 4, Width: 2802
Ish: 0, rsh: 4, width: 2798
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Index: 3, Unicode: 0064
Nodes: 178, Contours: 4
BBox: (0, 0) - (2794, 492)
LSB: 0, RSB: 4, Width: 2798
Ish: 207, rsh: 189, width: 2402
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Index: 5, Unicode: 0066
Nodes: 203, Contours: 2
BBox: (0, 0) - (2790, 516)
LSB: 0, RSB: 16, Width: 2806
Isb: 66, rsb: 76, width: 2664

h

Index: 7, Unicode: 0068
Nodes: 372, Contours: 15
BBox: (0, 0) - (2794, 428)
LSB: 0, RSB: 4, Width: 2798
Isb: 595, rsb: 604, width: 1599

J

Index: 9, Unicode: 006A
Nodes: 236, Contours: 6
BBox: (0, 0) - (2794, 440)
LSB: 0, RSB: 8, Width: 2802
Ish: 13, rsh: 32, width: 2757
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Index: 11, Unicode: 006C
Nodes: 240, Contours: 5
BBox: (0, 0) - (2790, 484)
LSB: 0, RSB: 12, Width: 2802
Ish: 208, rsbh: 204, width: 2390
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Index: 13, Unicode: 006E
Nodes: 176, Contours: 2
BBox: (0, 0) - (2794, 512)
LSB: 0, RSB: 4, Width: 2798
Ish: 5, rsh: 11, width: 2782
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Index: 15, Unicode: 0070
Nodes: 514, Contours: 11
BBox: (0, 0) - (2800, 483)
LSB: 0, RSB: 2, Width: 2802
Isb: 8, rsh: 10, width: 2784
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Index: 17, Unicode: 0072
Nodes: 289, Contours: 4
BBox: (0, 0) - (2800, 296)
LSB: 0, RSB: -6, Width: 2794
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Index: 19, Unicode: 0074
Nodes: 378, Contours: 6
BBox: (0, 0) - (2766, 499)
LSB: 0, RSB: 32, Width: 2798
Ish: 124, rsh: 163, width: 2511
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Index: 21, Unicode: 0076
Nodes: 500, Contours: 47
BBox: (0, 0) - (2800, 704)
LSB: 0, RSB: 2, Width: 2802
Isb: 337, rsh: 438, width: 2027
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Index: 23, Unicode: 0078
Nodes: 674, Contours: 18
BBox: (0, 0) - (2800, 400)
LSB: 0, RSB: 2, Width: 2802
Isb: 458, rsh: 458, width: 1886
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Index: 25, Unicode: 007A
Nodes: 140, Contours: 2
BBox: (0, 0) - (2798, 398)
LSB: 0, RSB: 0, Width: 2798
Ish: 13, rsh: 6, width: 2779



